SuMPO EPD SUMPORIESAITOT S A

SE“MI':;’D - R EE A AT TR
.. 14T NBEEE (EPD) HRET R EXPIHE1-14-8
VERIFIED KANDA SQUARE GATE
Z#FES . JR-AI-25199E https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

EIT7AMVL EIRZX A/R=-Y3 VKR E]
FUJIFILM Business Innovation Corp.

A3 S —ESH

SLAEES A3 Color Multifunction Printer
Apeos C3061 (Model-CPS-B)
‘ fr—
(for CN)
Apeos, Apeos 0T, ApeosPro. ApeosPort . $&U ApeosPrint (&, ELTMIVAESR I IR-S KRS OB HREIREIEIRTT,
HFEHM ZRES JR-AI-25199E
EFPCRES  PA-590000-AI-08
HE1EHEY
PCR% CIEINEPAL: T
BEEN REXPE NES]=| 20255118 11H
[ §53 ) O RI84 MIEE1EE  2025510830H
QOEMEAZE QEE Q@B @FER - #iF RIESF R JATLFREEA R
O:= Wt RIIES 2025-FB-EL-054
MREEE#hHEAR 20304108298
HROBR, FEMLK-HET PCRLE1-DENE
B : Apeos C3061 (Model-CPS-B) HTEHZ 20234£ 98 1H
FEMAR  H5-EEE EPAR) ZER BB Ex
ENRIEE : £/70 30ppm (A4 LEF) (FRIE — Mt B AY AT F IR E HEE L)
15— 30ppm (A4 LEF) B=EHRIE BE T
SREHETAX A3, 11x17" NERIREEE
FUY/AC-/AFVY
T E EN R RE/ADF(JETe B Bh55AH) ISO14025|C > AE E RUT-I DML LIAREE
OAER WA ER
*YAT LR R (T B EANDIREDIH S, VATLARIZITFEEED
LRETH,

Bluahtse BEIAMIVLAESHRIAIR—>3 ket
EEMAX AR EHFSUV6THISE
https://www.fujifilm.com/fb/

E85EFS 1 JR-AI-25199E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

IAabAN

VERIFIED
JR-AI-25199E

S17Y1 7 VBTl R

SuMPO EPD
FL4TNIBEEE (EPD)

SUMPORRIEIANI OIS L

— WAL EEAY AT IR E HEE RS
HRETHREXAMET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

R | WERE | BEE ﬁz::% Py
S[UELE) - &5 kg-COzeq 3.81E+02 3.55E+01 8.03E+01 1.34E+02 7.84E+01
AV EBHIE kg-CFC-11eq| 3.35E-05 6.74E-08 2.29E-08 3.27E-06 1.56E-08
EREL kg-PO43*-eq 1.39E-02 7.48E-04 1.46E-04 4.47E-03 8.13E-05
[izye(e kg-SOzeq 1.27E+00 2.14E-01 1.20E-01 5.27E-01 7.94E-02
HALBEAFII VL kg-CzH.eq 7.80E-03 1.08E-04 8.04E-04 1.22E-03 5.86E-04
FEMEREE - S kg-Sbeq 4.94E-01 1.21E-04 1.09E-05 1.99E-02 1.48E-05

SATY1I WA IRV ) iR EEER
—RERDERICEEY 31E1R

RERERRE | SLEERRE B E?;;: = BEZEERPE
BERRE—RER - IXIF- (RPRy) MJ 9.63E+02 2.64E+02 7.89E+00 5.27E+02 3.33E+01
BEAE—RER - IXVE-EFME (RPRy) MJ 1.71E+01 1.70E+02 1.96E+02 6.56E+02 6.37E-03
FEBEREE—RER - TRILF- (NRPR) MJ 6.59E+03 1.12E+03 9.01E+02 2.85E+03 3.85E+02
FBETE—RER - IRNF-2FHE (NRPRy) MJ 1.11E+03 3.03E+00 2.74E+00 1.89E+02 8.52E-02
WAKDEEE m? 3.40E+00 1.79E+01 2.06E+01 6.92E+01 6.00E-03

EERRICEAT2EMIBR
-hEELAGEELTEELELE,
EEHEPAR)DZEYFUATEELTVET,
-B RO EFERBEESEMTT,
{EF ISR LB RENRI RO B EEENE A,
ERBOEAL. IRNF-RAT-T0Y T LVer3 28 % (SR> ClE LETECEE TTICEELELE,
A EENRIMER (S, 1350008 T,
1/4 x30 (Y37/B) x 15 () x 5 (H) x4 (@) x 12 (7 B) x 5 (££) = 135,0004%

Z0DIRFEFEEIER
ABDHLCRS B
i-ME (ERES) -4 15H CAS No. ENE
Limim 22 kg - - _
Ssus 0.14 kg - - -
TIVIZUL 13 kg
TIAFYY 26 kg [REfI(E, LCIT - R-RIDEA Ver.3.4, SUMPORRESNI O L% HT-H
A 041 kg Ver.1.16ZEALTVEY,
A 13 kg
- A 11 kg i5&
E & B RREMR 0.73 kg -
ARG 26 kg
Z0ft 2.9 kg

OT-FEEDALIL PCRELVEE - EEREESRL UL,
OLLRIIDVTE BEE - EERBICREINERGFERLLLGELLARHONE A,
(BERFURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

